Ry 2 TEERE ZRER
= ATLPATVOREE

RO D RERE 2 KD 72 S o

@

3cm

BREE - BV OERT Y O0— RS NS [BHDHURUJL] THER  https://www.okadori.net ©BMDhYRIIL



gy TEHEY E 2HEK
= ATLPATVOREE

RO D RERE 2 KD 72 S o

@ 24 & cm?
: HITEREIL 7 Xx5x3=157cm?
cm
EEAEIX 7 x3°=97cm?
LHEMEIL 1567 +97 =241 cm?
3cm

@ 84 1 cm?®
HITERE L 7 X8%X6=48 1 cm?
& 7 X6°=36 7 cm’
LT 487 +36 7 =84 7 cm?
® 36 T cm?®

HIEME X 7 X9X3=27ncm?
X © X3°=9 1 cm?
FHEMEL 277 +97 =36 1 cm?

BIREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net © BHDY R



